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1. The pharmacokinetic properties of propranclol are:
F=26%
fu=13%
elimination half-life t1/2 = 3.9 hours
Vd=4.3L/kg
a. Calculate hepatic extraction ratio for propranolol (5 points)
b. Explain how a change in (1) hepatic blood flow, (2) intrinsic clearance, or (3)
plasma protein binding would affect hepatic clearance of propranolol. {9 points)

2. phenytoin was administered to a patient at dosing rates of 150 and 300 mg/day,
respectively. The steady-state plasma drug concentrations were 8.6 and 25.1 mg/l,
respectively.

a. Find the Km and Vm of this patient. (5 points)
b. What dose is needed to achieve a steady-state concentration of 11.3 mg/L?

(5 points}

c. Please suggest two factors that may influence the pharmacokinetic properties of

phenytoin. (4 points)

3. The pharmacokinetics of amrinone aficr single IV bolus injection (75 mg) in adolt
male volunteers follows a two-compartmental open model and fit the following
equation:

Cp=Ae™'+Be "

A=4.6 pg/ml

B =0.6 pg/ml

a=9hr!

p=02hr"

a. calculate the volume of the central compartment (4 points)
b. explain the meanings of A, B, a and p (8 peints)

4, For bioequivalence studies,
4.  Why are the parameters e, Cpax and AUC acceptable for proving that two
drug products are bicequivalent. (6 points).
b. Is it necessary to use a pharmacokinetic model to completely describe the
plasma drug concentration-time curve for the determination of tmax, Cmax and
AUC? (please explain the reasons) (4 points)
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